For what value of a is the vector V = (5,8, 3) orthogonal to the vector w = {(a, —3,7)7?
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Let i = (10,5) and V¥ = (2,6). Find projy(id), the orthogonal projection of i onto V.
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Find the area enclosed by the curves z = 2y — 3* and x = y*
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Find a formula for the volume of the following solid: The region bounded by y = sin(z}), the
z-axis, = 0 and r = %, is revolved around the line r = —1.
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If the method of washers is used, the volume of a solid obtained by revolving a certain
——

region about the z—axis is given by
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What integral below represents the same volume if the method of cylindrical shells is
used?
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A swimming pool has a rectangular base that is 5 m long and 6 m wide. The sides are 2
m high and the pool is half full of water. How much work will it take to empty the pool
by pumping the water out over the top of the pool? Write your answer in terms of the
gravitational acceleration constant g and the density of water p.
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